Equal 9 step grey scaling betweeh*gan=14.4 andL* g,\w=125.1,Ypei=180.0, normalisation greyl|

L*0anF14.4,L%0a=69.7,L* 0aw=125.1,Yoan=1.8, Yoa=40.4, Yoan=180.0,Coav=Yoaw: Yoan=99.9
L*tan=64.4,L*1a=69.7,L*taw=85.0, Ytan=33.3, Ytau=40.4, Ytaw=66.0, Giay=Yiaw: Ytan=2.0

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100
g%=17, g%= 11

g%= 99, g%= 99

L*cieLaB  intended output real output
no. i
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0l AL*p=13.8 (i=1,2,...,8)
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g%5=91, g%5= 73
linearized output
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 normalisation: Y;aiiy=Yoay 0ai Yoref_
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